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(1) sine wave

(2) triangle wave

(3) sawtooth wave

(4) square wave
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Sin0Osc s => dac;
(5+1/2)::second => now;
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SinOsc s => dac;

s.freq() *x 2 => s.freq;
s.gain() / 2 => s.gain;
<<< s.freq(), s.gain() >>>;
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1) 220 => int hz;

2) 220 => float hz;

3) 220.0 => int hz;

4) 220.0 => float hz;

5) 220.0 $ int => int hz;
6) 220.0 $ int => float hz;
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Math.random2(0,1) => float n;

o272 )
Math.random2f(0,1) => float n;
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int notesl];
for (0 => int i; 1 < notes.size(); i++)
<<< notes[il], "" >>>;
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int notesl[4];
for (0 => int i; i <= notes.size(); i++)
<<< notes[i], "" >>>;
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(48, 50, 52, 53, 55, 57, 59, 60] @=> int notesl[];
Std.mtof(notes[4]) => float freq;
notes[5] => int notel;
notes[7] => int note2;
notes.size(4);
notes << notel << note2;
if (notel < note2)
notes << notel;
else
notes << note2;
notes.size(8);
Std.ftom(freq) $ int => notes[7];
<<< notes[4], notes[5], notes[6], notes[7] >>>;
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fun void setNote(Osc osc, float freq, float volume) {

freq => osc.freq;

volume => osc.gain;

b

fun void setNote(0Osc osc, int note, float volume) {
Std.mtof(note) => osc.freq;
volume => osc.gain;

(1) SqrOsc clarinet; setNote(clarinet, 330.0, 1.0); 2} Z0| S&51M QF 7 WMSIX| 21 o] st
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(2) SawOsc violin; setNote(violin, 60, 1); 2 ZO|
SiCt
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SndBuf sample => dac;
me.dir() + "audio/hihat_01.wav" => sample.read;

for (0 => int i; i < 3; i++) {
=> sample.pos;
sample.length() => now;

for (0 => int i; i < 3; i++) {
-1.0 => sample.rate;
sample.samples() => sample.pos;
sample.length() => now;

}
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(1) Attack
(2) Decay
(3) Sustain
(4) Release
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Impulse imp => Delay str => dac;
str => str;

441,0::samp => str.delay;

1.0 => imp.next;

2:1i1second => now;

T2 2

Impulse imp => Delay str => dac;
str => str;

441,03 :samp => str.delay;

0,98 => str.gain;

1.0 => imp.next;

2i1isecond => now;
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(1)Gain
(2)Pan2

(3)SndBuf
(4)SndBuf?2

(HE) (3). 4)

4/8 ©=34+(2021)



CSE2020 S= =212 (2022-10-13) A& 1 [E100H]

17.

tu Ho

by
Z2IUS OIS F P45 S8 for RL| X ACEES AL &
O 7 Tt £Z0| AFE|0{0F Bt (=FaloF & £2E R oS &85

[0F] ol === MA 0|3t Of2l AR th2 FEE +FSHAL

SndBuf kick => Gain master => dac;
SndBuf snare => master;
SndBuf hihat => master;
SawOsc voice => master;

me.dir()+"/audio/kick_01.wav" => kick.read;
me.dir()+"/audio/snare_01.wav'" => snare.read;
me.dir()+"/audio/hihat_01.wav" => hihat.read;

=> hihat.gain;
second => dur tempo;

[ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ’ ] @=> lnt lekHltS[];
(e,0,1,0,0,0,1,0,0,0,0,0,1,1,1,11 @=> int snareHits[];

(,1,0,1,0,1,0,1,0,1,0,1,0,1,0,1] @> int hihatHits[];

for (0 => int i; i < 8; i++)

for (0 => int beat; beat < kickHits.size(); beat++)

if (kickHits[beat])
=> kick.pos;
if (snareHits[beat])
=> snare.pos;
if (hihatHits[beat])
=> hihat.pos;
Math.random2(0,2) => int play;
Math.random2(60,72) => int note;
if (play == 0) {
Std.mtof(note) => voice.freq;
=> voice.gain;
}
else
.0 => voice.gain;
tempo => now;

fun void playDrum(SndBuf drum, int hits[], int beat) {
if (hits[beat])
=> drum.pos;

ron

o

FQfL

H&tm ERICA AZEQ|0{5tE

fun void leadVoice(Osc sound, int distance, float volume, int low, int high) {

Math.random2(0,distance-1) => int play;
Math.random2(low,high) => int note;
if (play == 0) {
Std.mtof(note) => sound.freq;
volume => sound.gain;
s
else
=> sound.gain;
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for (0 => int i; 1 < 8; i++)

for (0 => int beat; beat < kickHits.size(); beat++) {
playDrum(kick, kickHits, beat);
playDrum(snare, snareHits, beat);
playDrum(hihat, hihatHits, beat);
leadVoice(voice, 3, 0.3, ) );
tempo => now;
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SawOsc s => dac;

::second => dur BEAT;
BEAT => dur QN;
QN / 2 => dur HQN;

=> float VOLUME;

=> int CENTERNOTE;

int note;

for (0 = int i; 1 < 8; i++) {
Math.random2(CENTERNOTE-
makeSound(s, Std.mtof(note), VOLUME, HQN);
makeSound(s, Std.mtof(note+2), VOLUME, HQN);
makeSound(s, Std.mtof(note+3), VOLUME, HQN);
makeSound(s, Std.mtof(note-1), VOLUME, HQN);
makeSound(s, Std.mtof(note), VOLUME, HQN);
makeSound(s, Std.mtof(note-4), VOLUME, HQN);
if (Math.random2(1,2) == 1) {

makeSound(s, Std.mtof(note-5), VOLUME/
makeSound(s, Std.mtof(note-5), VOLUME/
makeSound(s, Std.mtof(note-5), VOLUME/
}
else
BEAT * 3 => now;

, CENTERNOTE+12) => note;

, QND;
, QND;
, QND;
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fun void makeSound(Osc osc, float pit, float vol, dur len) {

pit => osc.freq;
vol => osc.gain;

len x / => now;
=> 0sc.gain;
len / => now;
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SawOsc s => ADSR env => dac;
] @=> int scalell;
::second, 0.5,

[ ’ ’ ’ ’ ’ ’ ’

env.set( 1:second,

for (0 => int i; i < scale.size(); i++) {
Std.mtof(scalel[i]l) => s.freq;
=> env.keyOn;
1:second => now;
=> env.keyOff;
11 second => now;
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SawOsc s => ADSR env => dac;
env.set( 1:second,

fun void makeSound(0Osc osc, float pit, float vol, dur len) {

pit => osc.freq;
vol => osc.gain;
=> env.keyOn;

len % / => now;
=> env.keyOff;
len / => now;
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::second, 0.5,
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